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ATTEMPT ALL QUESTIONS

Question No: 1
a) A three-phase 765-kV, 60-Hz, 300-km, completely transposed line has impedance and admittance of z = 0.0165 + j0.3306 ohm/km and y = j4.674 x 10-6 S/km. Calculate the exact ABCD parameters of the line.                                                                                                             (10)

Question No: 2
a) What is surge impedance of transmission lines and how can it be found                                  (5) 

b) What are the different reactive power compensation techniques used in transmission lines        (5) 

Question No: 3
a) Draw and explain the equivalent fault circuit diagram of the following three phase circuit, and then draw and explain the post fault condition of the circuit.                                                                (5)
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b) A fault occurs in the above system. The fault voltage is 1.05<0 kV. The load current is 3.984<-18.19 kA. Find the fault current and Generator current.       (5)

[bookmark: _GoBack]Question No: 4
a) What are bus-bars and what are the type of bus bars used in transmission lines            (4)

b) What is the effect of Voltage on the number of insulators, distance from ground and distance between phases of Transmission Lines                                                                            (5)

Question No: 5
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A single-line diagram of the power system considered in Example 7.3 is
shown in Figure 9.3, where negative- and zero-sequence reactances are also
given. The neutrals of the generator and A-Y transformers are solidly
‘grounded. The motor neutral is grounded through a reactance X, = 0.05 per
unit on the motor base. (a) Draw the per-unit zero-, positive-, and negative-
sequence networks ona 100-MVA, 13.8V base in the zone of the generator.
(b) Reduce the sequence networks to their Thévenin equivalents, as viewed
from bus 2. Prefault voltage is % = 1.05/0° per unit. Prefault load current
and A-Y transformer phase shift are neglected.
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